
Boechout Capenberg *** ClubTornooi *** 4 giften per ronde *** 31/10/2022

1 Smout Christiane-Mertens Willy 31 Van Essche Monique-Lenaerts Jan

2 Jacobs Ann-Schoemaker Denise 32 Lammens Andre-Bastiaense Rita

3 Sterckx Berte-Kerckhofs Marc 33 Wolput Wim-Kuyken Willy

4 Boel Theo-Creffier Sonja 34 De Cort Leo-Snyders Robert

5 Beirens Yvonne-Docx Roger 35 Baetens Monique-Verlooy Francois

6 Daman Martine-Willems Wim 36 Symons Linda-Roes Jef

7 Geentjens Eddy-Vandersmissen Willy 37 Bracke Roland-Van Genechten Rik

NZ OW gift 1 NZ OW gift 2 NZ OW gift 3 NZ OW gift 4 NZ OW

1 31   11   1  420 N4H=
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